femi

@ Art

NG160

Cod./Kode
8.48.60.21

1__TINT 5737 M14x100
2 5080132

3 0063040

4 5124050

5 0147003

i) 50427 82

7 5137922

R TINT 6592 (314
9 [INT 5587 M14
10 TINT 5721 M14
11 5159513

12 0063037

13 01207 18

14 IINT 7473 MR
15 7130552

16 5133684

17 TINT 5931 Mé6x16
18 5124029

19 5404012

20 04029 05

21 014 4003

22 TINT 5933 M&x20
23 5137796

24 5152504

25 5130834

Descrizione / Description / Beschreibung
Segatrice a nastro / Scié a ruban
Bandsagemaschine

Pag. / Seite
114

26 5100329
27 5130393
28 TINT 5732 M12x100
29 S137778
30 5137793

31 5124056
32 5171056
33 0152630
34 5142080
35 0140073
36 TINT 5739 M8&x4(0
37

38 TINT 5933 M10x30
39 5130394
40 5124048

41 00630139
42 0140059
43 5130744
44 5142023
45 0152631

46 TINT 5961 M6x25
47 S1R2829
48 0400513
49 5152505




@ Art. Cod./Kode Descrizione / Description / Beschreibung Pag. / Seite
,Eml NG160 8.48.60.21 Segatrice a nastro / Scié a ruban 2/4
© Bandsagemaschine

71
50 7213008
:; 0606205 74 5214222
=2 75 7130593
I 0586000 76 1IN 1751 Qi6
s 77 0590624
56 0150139 ;g S8 1738
57 5154103 o
38 0400511 81 TINI6592 @10
39 5214022 %) 5100504
60 TINI 6592 (312 83 5081005
61 TINT 7474 M12 84 TINI 5933 M5x25
62 TINT 5588 M10 83 5130734
63 5001558 86 00802 59
64 5137808 &7 0400513
65 0155149 88 3181737
66 0606204 89 5871048
67 0155116 90 0802324
68 3277351 91  TINI 6954 P7x25
69 5181736 [27) 5050133
70 _TINI 5923 M5x16 93 3050132
91 0140087 94 0400503
72__1INT 5933 M8x20” 95 0179901

3 5124047 96 50427 R0




@ Art.
fgml / NG160

Cod./Kode
8.48.60.21

Descrizione / Description / Beschreibung
Segatrice a nastro / Scié a ruban
Bandsagemaschine

NOTAS / OPMERKING

97 7130588
98 0147000
29 012 07 06
100 TINT 5721 M6
101 TINT 1751 Q6
102 0120718
103 0147006
104 5130774
105 0174016
106 0129004
107 0590634
108 TINT 5732 M6x20
109 5181729
110 0600607
111 5100075
112 7132503
113 512 0638
114 5100074
115 5181654
116 5100064
117 5100065
118 5130771

119

TINT 5731 MRx30

112

Pag. / Seite
314




@ Art. Cod./Kode Descrizione / Description / Beschreibung Pag. / Seite
,Eml NG160 8.48.60.21 Segatrice a nastro / Scié a ruban 414
Bandsagemaschine

159 158

120

120 7213004 141 5130833

121 042 40 60 142 5130806

122 5182519 143 TINI 5931 Mé6x16

123 042 07 69 144

124 7820108 145 0816004

125 5850111 146 51828213

126 5870853 147 TINI 5931 M6x40

127 7801646 148 5182505

128 149 5000726

129 5154501 150

130 151 5 182839
152 058 62 00

131 0400400 153

132 5850006 154

133 0802316 155

134 TINI 6954 P8&x45 156

135 5182504 157 7213005

136 0168507 158 0731212

137 0801101 159 0124026

138 5081008 160

139 0168513 161

140






